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BACHELOT{S DEGREE PROGRA]VIME

Term-End Examination,

|une, 2009

FST-0L : FOUNDATION COURSE IN SCIENCE
AND TECHNOLOGY

Time : 3 hours Maximum Marks : L00

Note : Question No. f. is compulsory. Attempt any seven

questions fro* Q. No. 2 to 9.

1. (a) Fitt in the blanks : 3

(0 The distance travelled by light in one

light year is -.

(ii) The concept of the floating bodies and

hydrostatics was given bY

(iit) Complete the equation for

photosynthesis :

Carbon dioxide * water * solar energy
-+ Food +- .

(b) Giae one word/term for each of the following :

(i) The phenomenon where excessive

nourishment in a water bodY bY

sewage waste eventually leads to loss

of life.

(") A technique by which age of organic

fossils is determined.
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(i i i) The area of study related to the

efficiency of a person in the working

environment.

(i") Layer of atmosphere closest to our

planet earth.

(.) Write in one or two sentences, the major

contributions of the following scientists :

(i) Galileo Galilei

(it) Stanley Miller

(iii) Charles Darwin

(i") Van Leeumwenhoek

(d) Briefly explain the following. Answer each

question with in 50 words :

(i) Displaced aggression

(ii) Role of radio in mass communication

(iii) ArDS

(irr) Nuclear fission

(") Artificial intelligence

"The growth of science in any society is influenced

by its needs; and its capacity to absorb ideas."

]ustify this statement.

(u) \A/hat are Hormones ? With the help of any

two examples, explain how the hormones

are vital for proper functioning of the body ?

(b) How does stimulus and response

methodology help in learning process ?

Explain by giving an example.

1.5
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4 . (a) \A/hat developments took place in the field
of chemistry and astronomy in medieval
India ?

(b) What is meant by nutritional deficiency
diseases ? Give the cause and symptoms of
any two such diseases.

Differentiate between the following pairs :

(a) Food - chain and Food - web

(b) Reclamation processes used for alkaline and
saline soils.

(.) Renewable and non-renewable energy
resources.

(d) Galaxy and Solar system.

Explain the concept of technology transfer.
Describe three ways of transfer of technologies.

What is a semi-conductor ? Write any four
applications of semi-conductor devices.

Is technology essential for our industries ?
With the help of two examples, explain what
will happen if we continue to use age-old
methods.

5 . 1.0

L 0

6.
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8 . Discuss the management of water and forest

resources.

In your opinion what are our social objectives ?

How can science and technology help in achieving

these objectives ?
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qt[.q€.ut -0L

T{Rr€5',nqTFr q.rdT'q
Fdrfr qfrqn,

E{, 2409

qq'.qq.A.-ol : f{dtq iTQ[tgHffi{
silert qr{Erfrq

WFf : 3 Wt qfti+aq irr : fio

qle : vn v@T r arffi t r vw v@r z t g {6 l* fiF€f

aHw'+#rarff i t
't. (u) frff €nii fr1$ qfrFqq :

(i) go rorvr-e{ t rilqT ERI ilq E1 qri

6nd q$ - *fr tt

(ii) fuil gqfis] sft rqfufr fudH +1 rin€qn

i * S t

(iit FrH - ri{Aqur *, {i-+f q Frqfdfud

sqtfiur *1 qn fi*fqq :

erd-{il-ge:fffi{s + qe + *r u.qf +

$qq+-

(b) inrfufud 6Prii *' tdq f lrq fdFsq ; 4

(t) q5 qfum ffi tn-{ut wt - {rffii d

wT rt?T sTqRrE Tfleff *. {o€r *i t

et-sl$m frqq *dr t ffi isttut eira:

frT{ q€ di c'rar t r
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(c)

(iit)

rc rofro ffi 6rdf{-6 frr{Ci q1 eilg

FFriRr *1 qfi t t

erd-Terf, w eqfm e1 <rcr t {afferd

s{rrfi q1 qngr r

Eqrfr grd *' rcT q vet qfiq q$isdq

{kr6 |

(i")

ffii *vguffif +fdwq
g.F qI d qrd fr frfisq t

(') ffiffiffi

(ii) s{ Ttl?R

(ii,) qd srfdr

(i") fiqdftfd'

ffifud s1 {*q fr qrqr qifqq | tr#*^ h

srt o1 so wdi iq,, SFrd {fisq I

(i) freTrFrd e{tinr+Fdt

(ii) qq-riqn frtH 61 t1Fffir

(iit qqs (AIDS)

(iv) {fir+tq t+tiq{

(v) Ffxt gfe

(d)
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2. t'frid rfr qqre fr f€rq q;t fdfirs ss qrnq s1

s{rqsr*.ilreil ft ssh ERr ffi qi ueq q-{i ft1

sqflr t s$nfuf, *m t" r Fs qprq e1 gk{itr-rdr

letuqr

(u) Efmr wr *t t ? ffi A Eq€{uii e1 wrqo t

Fr€ qitilq q1 {rft + v€i etFR t q'rd

q'ti * fW ffiq ffrH rFR g[Fl<T 3ilErg{FF

t)iltt

(b) fr€i 61sfuqr fr sfrqt sfu er{fx.qr f*|q fsq

rfi'R sEFfiF tfr tu qs'TEt6{ur ERr qr€ilt

mfrer

(u) quqgrfr{ qrd fr wr+{ ry 3t{ rr'il€ frsH

+ ffif{ wr-wrfqfrrsgq?

(b) frqur-eTrnq-ffi t sr rrdd t? EA ffi

+ rHi *^q,nq efu ewr tdfuq I

Fr{f€rfun Tt'r * qtq eim qcr{g :

(u) eilEl{-riqf,r eT}t errgn-qro

(b) qTr$q gqr *{ ndufrq 5<r o1 gsTR tqfird

(") Eqi * ffiq sTlr ft qffiq riqren

(d) en+rvr-ttm sft ft ri$T
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6. **ffi rqnriruur 61 ti*'ffi{r +1 qreqr qifqqr

ffiffi rprFil.dror +*{ ilffii q'r cotq qltqqr

(u) eTd-qretfi wr dm t ? erd-qrr+' qrsri

+ 6t$ an ergrfu fdfuq I

(b) wt wft Ytri + fdq *dfirs1 enqs{n t?
Elsqttrrl ql wrqcr t se s1Fqq lmqR tq
{rf<di IFri Tffif qil silnTe {t * wr frn?

B. qs ei{ qa-riqTtrii *'lreien +1 ffifir qifeqr

s, sTrr*l nq fr Eqrt qrqrfuqr E;tsq wt tz F{ strdi
q1 srq q,,ri t f+gn eil-r ffiffi tfiq gtfi'R

r16rtttr d sfit t?
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